
Subject: Re: Problem using a switch control
Posted by mirek on Tue, 15 Dec 2015 11:46:59 GMT
View Forum Message <> Reply to Message

I see.

Well, the 'key' is the second argument to Set and right now should be unique (that said, while this
is the first case when this causes the problem, maybe it is not necessary requirement and it would
be possible to support your use-case directly).

Anyway, right now, fix is easy - use i as second argument too... (you will have to store sql[DRUM]
in some array, but that is easy).

Mirek
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